
L & S Unit 5 Test
Student name

Group/Class

Date Score

LISTENING

GRAMMAR

Listen to a lecturer talking about urban growth, and choose the correct
alternatives to complete the sentences.

Score:       / 5

1  Unit 05

The number of city dwellers will  in the future.0 grow slow down/

Local governments are under pressure because they 

.

1

use public money badly don’t have enough money/

Beijing is given as an example of a city with .2 people living in poverty bad air pollution/

The natural habitat of many animals has been destroyed by .3 construction waste/

Local people could be encouraged to  policy makers.4 become help/

The speaker suggests the quickest method to reducing air pollution is by 

.

5

using electric cars improving public transportation/

Listen to a lecturer talking about urban growth and complete the words in
the sentences. The first letter is given, and there is one space for each letter.

Score:       / 5

2  Unit 05

By 2050, two-  of the world’s population will live in cities.0 t h i r d s

There has been a deterioration of air  in cities recently.1 q

In terms of air pollution, the speaker describes the car as the main

.

2

c

Lack of government money has caused widespread .3 p

The speaker believes people will be slow to change their .4 h

Green spaces should be a   element to urban planning in the future.5 k



Complete the sentences with the correct words.

     

Score:       / 5

3

did had never not nothing only

 did we receive for our efforts but a pat on the back.0 Nothing

 we stayed five minutes longer, we would have seen the goal.1

 have I seen anything like this before in my life.2

Not  did she win, but she also broke the world record.3

 until she was 50 did my grandmother take an airplane.4

Seldom  he visit his mom unless he needed her help.5

Match the sentence halves.

Score:       / 5

4

Nowhere has seen a greater

transformation

Only after seeing the damage

At no time in the week

No sooner had he come into

the library

Rarely do we

Had you bothered to look,

get a fantastic opportunity like

this.

than this city.

did they get the scale of the

disaster.

did Helen stop by the house.

you’d have found the file.

than he left.



VOCABULARY

Read the inversion sentences. Choose the best answer: A, B, or C.

Score:       / 5

5

[...] had the politician arrived than she disappeared again.0

SoonerA

HardlyB

OnlyC

[...] did he do all day but watch TV, drink soda, and eat pizza.1

NoA

NeverB

NothingC

[...] after the manager had given the good news did he deliver the bad.2

OnlyA

Not onlyB

No soonerC

[...] had it been a better time than now to tell them the truth.3

NeverA

NothingB

NowhereC

[...] Mrs. Harris said something sooner, Peter wouldn’t have worried.4

DidA

WereB

HadC

[...] you to ask Sarah to the prom, I’m sure she’d accept.5

IfA

WereB

ShouldC

Complete the dialogue with the correct sentences.

Dan: Hi, Mike. I’m really stuck with this inner city

project.

Mike: (0) 

Dan: What kind of issue are you going to focus on?

Mike: (1) 

Dan: What does that cover exactly?

Mike: (2) 

6

And we can’t get out of it. It’s obligatory.



Dan: I have no idea what I’m going to do.

Mike: (3) 

Dan: That’s not a bad idea, you know.

Mike: (4) 

Dan: Oh, yeah. Sam’s doing that, isn’t he?

Mike: (5) 

Score:       / 5

I’ll probably do something about ecology.A

How about population density in cities?B

The destruction of natural habitats mainly.C

Try to exclude New York though, just in case.D

Yeah, but his is about the evolution of the city.E

And we can’t get out of it. It’s obligatory.F

Look at the message Marta is sending to Ella. Choose the best answer: A, B, or C.

Hi Ella,

I need some advice about my homework, and you’re the most (0)  person I

know, so I thought I’d ask you. Of course I’m joking! But you were involved in the

(1)  about inner cities, so I thought you would know more than me. The thing

is, my teacher has asked me for a (2)  of my essay, whatever that means. I

guess he wants me to improve it. I cover issues like (3)  from the country to

the city, and how consequently, quality of life has (4)  for working class

people. A direct result of this is that poverty is (5)  the increase. Anyway, if

this is something you wouldn’t mind giving me a hand with, I’d really appreciate it. Let me

know.

Thanks,

Marta

Score:       / 5

7

mature

A hierarchical B obligatory C mature

A diversity B density C policy

A modification B distribution C predator

A habitat B migration C evolution

A deteriorated B investigated C excluded

A for B on C at

0

1

2

3

4

5



In each pair of sentences, there is one correct and one incorrect sentence. Check (✔)
the correct sentences.

The prime suspect was finally investigated from the enquiry.

The prime suspect was finally eliminated from the enquiry.

Whether he is a medical professional or not is of no significance.

Whether he is a medical professional or not is of no notion.

It has emerged that the state representative had been accepting bribes.

It has existed that the state representative had been accepting bribes.

Crime is widespread in large cities and it’s hard to know how to tackle it.

Crime is linguistic in large cities and it’s hard to know how to tackle it.

The density of courses at my college is great. I don’t know which to choose.

The diversity of courses at my college is great. I don’t know which to

choose.

Violence suddenly displaced what had been a peaceful protest.

Violence suddenly disrupted what had been a peaceful protest.

Score:       / 5

8

0

✔
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